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A dyes is made by mixing red and yellow colors in the ratio of 2 : 5. If the
amount of red color in the dye is increased by 25%, what will be the
percentage of yellow color in the new dye to be made?

TS TN I ST Pl Ard AR U T P12 : 5 & 31 H [HATHR §-1471 Sl 3 |

gfe SIg H Ard I ®F AE B 25% I d&™T Sdl §, df -1 arel 15 815 H Ui
I BT U fhdqr sR1?

a)
b) 333%
C) 567%

d)
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A tank has a leak that will empty it in 17 hours. A tap is opened which enters
12 liters of water in one minute and now the tank is emptied in 24 hours. How

many liters will be the tank capacity?

Uh ch H UH R § ol 3 17 el H Gielt H S| U -Td Jidl oifdl g o
U fiIe § 12 CileX UM YARI 811 © 3R 3fd ¢ 24 el § Aldl gidl ol ¢ DI
&HdT [ d- Tiiex &l giil?

a) 500
b) 700
C) 500

d) 965
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A sum of X 11700 becomes X 16848 in 2 years at the rate of compound interest.
If the interest is compounded annually, then what will be the rate of interest?

% 11700 DI Y-RI¥ 2 a9 H Iehdla 4TS UR X 16848 Bl Sildl ¢ | Al =TS
qifties GAIfSTd ©, dl STl Bl &R 1 IiI?

a)
b) 3%
C) 5%

d) )%
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The length, breadth and height of a solid cuboid is 14 cm, 12 cm and 8 cm
respectively. If cuboid is melted to form identical cubes of side 2 cm, then what

will be the nhumber of identical cubes?

0P 31 914 Bl ddls, sy 3R 3Hdls HHTT: 14 JHI, 12 HT 3R 8 YHI gl TG
T D1 QYT 2 JHT YST dId U 99 §91- S1d ©, dl JHH 941 bl H-AT H1

g2
a) 8
b) +
C) s

d) s
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The average weight of all the vehicles in a parking is 4000 kg. The average
weight of 12 vehicles is 6000 kg. Average weight of the remaining vehicles is
3000 kg. What is the total number of vehicles in the parking?

U Urfh T § Gt 1841 1 31gd 9919 4000 fHUT T 1 12 91811 BT 31d 9o 6000
[hU1 T | AN argHl T 3{d doi- 3000 {31 © | Urich 1 H d1gH[ Bl Dl IS T 62

a) >
b)
C)J

d) ,
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The diagonal of a square is 14 cm. What will be the length of the diagonal of the
square whose area is double of the area of first square?

U 01 Bl f[dd Ul Df ddlg 14 I 1 39 71 DI [dH Ul B ddls 1 gRIT forgadhT
& Ugd 97 & &AKhd DI GIHT 572

a) 32 cm
b) V2 cm
C) 3 cm

d) INV2 cm
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Height of a right circular cylinder is 12 cm. If the radius of its base 21 cm, then
what will be the curved surface area of the cylinder?

Uh did I da- Dl Gl 12 941 g1 Al g8 SR &I Asar 21 94t g, dl daA

BT b1 U T G2

a) 44 cm?
b) 84 cm?
C) 56 cm?

d) 32 cm?
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The length of a rectangle is 16 cm. If the length of diagonal is 20 cm, then what
will be the breadth of the rectangle?

U 3Ad Dl adls 16 TH! g | Ale B0l & ddrg 20 TH ©, dI 3[Ad Df dIsls &

g2
a) om
b) 2 CmM
C) ) cm

d) 1cm
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Manish goes to his hometown at the speed of 40 km/hr and returns to his home
at the speed of Y km/hr. Distance between his home and hometown is 360 km.
If he takes total 21 hours, then what is the value of Y?

A1 3[04 §IHer3 40 fhdl/Aer & 71fd & Sirdar g SR Y fhdlder &t vfd 3 s
gR IO 31T 6 | 39D @R 3R GIHCI3H & did DI gl 360 fbHl g1 afe 98 T 21
el I ddi e, dl Y &1 aH |1 8?

a) i
b) e
C) ) [ direar

d) 3 b diren
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P and Q together can complete a work in 20 days. If P alone can complete the
same work in 36 days, then in how many days Q alone can complete the same
work?

P 3{R Q UhH1Y U D1 Dl 20 fa-l H GR1 B Fobd ¢ | Afd P 3fbel JHH H1H Dl
36 &l T I SRl 5, Al Q 3{dbd A DH &I fdba- &1 § IR &R ghdl g2

a) 3 days
b) > days
C) ) days

d) | days
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The length of platform is double of the length of train. Speed of the train is 144
km/hr. If train crosses the platform in 30 seconds, then what is the length of the

platform?

GICHTH B dals o DI ddls @I GIIHT 6| < ®i 71fd 144 fHHider g1 afe <
eHH B 30 YHS H UR Dl o, dl WehIH dif ddlg a1 572

a) D0 metres
b) )0 metres
C) )0 metres

d) JO metres
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The marked price of an article is 1200 and discount offered is 31%. If profit is
15%, then what will be the cost price?

Ueh 9] ] Sifdbd e T 1200 T 3R ol -1 ¥< 31% o | Al d1Y 15% o, dl hd

e T ITI?
a) 340
b) 704
C) 748

d) 720
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If the length of a rectangle increases by 50% and the breadth decreases by
29%, then what will be the percent increase in its area?

qfG Udh 3RId Dl ddlg H 50% P! dla 3R ST H 25% ®I HHI gldl 5, dl 39D

AT A & frat afe anttz
a)
b) 7. 5%
C) 5%

d) %




